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Wprite an equation in point-
slope form that passes
through QC 7) and has a
slope of %‘ i ‘)"“

Rewrite the equation in
slope-intercept form.

Verify your equations are the
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same line on Desmos.
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rite an equation in point-
slope form that passes
through (-12, 15) and has a
s

lope of%—

Rewrite the equation in
slope-intercept form.

Verify your equations are the

same line on Desmos.
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Yy - y1 = m(x - x1)
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=

rite an equation in point-
slope form that passes
through (5, -8) and has a
slope of -6.

Rewrite the equation in
slope-intercept form.

Verify your equations are the
same line on Desmos.
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ﬁl- Write an equation in point-
&~ slope form that passes
e through (-5, -5) and (-2, 4).
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Rewrite the equation in
slope-intercept form.

Verify your equations are the
same line on Desmos.
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Yy - y1 = m(x - xi)
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¢ Werite an equation in point-

Rewrite the equation in
slope-intercept form.

Verify your equations are the
same line on Desmos.
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Yy - y1 = m(x - xi)




